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QUESTION 1

Refer to the code below:

Const resolveAfterMilliseconds = (ms) => Promise.resolve (
setTimeout ((=> console.log(ms), ms));

Const aPromise = await resolveAfterMilliseconds(500);
Const bPromise = await resolveAfterMilliseconds(500);
Await aPromise, wait bPromise;

What is the result of running line 05?

A. aPromise and bPromise run sequentially.

B. Neither aPromise or bPromise runs.

C. aPromise and bPromise run in parallel.

D. Only aPromise runs.

Correct Answer: B

QUESTION 2

Given the expressions varl and var2,what are two valid ways to return the concatenation of the two expressions and
ensure it is string? Choose 2 answers

A. varl + var2

B. varl.toString () var2.toString ()
C. String (varl) .concat (var2)

D. string.concat (varl +var2)

Correct Answer: BD

QUESTION 3

Universal Container(UC) just launched a new landing page, but users complain that the website is slow. A developer
found some functions that cause this problem. To verify this, the developer decides to do everything and log the time
each

of these three suspicious functions consumes.

console.time( Performance\\’);
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maybeAHeavyFunction();

thisCouldTakeTooLong();

orMaybeThisOne();

console.endTime("Performance\\’);

Which function can the developer use to obtain the time spent by every one of the three functions?
A. console.timeLog()

B. console.getTime()

C. console.trace()

D. console.timeStamp()

Correct Answer: A

QUESTION 4

A developer implements a function that adds a few values.
Function sum(num) {

If (num == undefined) {

Num =0;

}

Return function( num2, num3){
If (num3 ===undefined) {
Num3 =0 ;

}

Return num + num2 + num3;

}

}

Which three options can the developer invoke for this function to get a return value of 10? Choose 3 answers
A. Sum () (20)

B. Sum (5, 5) ()

C.sum() (5,5)

D. sum(5)(5)
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E. sum(10) ()

Correct Answer: CD

QUESTION 5

Refer to the code below:
leto={

get js() {

let cityl = String("st. Louis");
let city2 = String(" New York™);
return {

firstCity: cityl.toLowerCase(),
secondCity: city2.toLowerCase(),
}

}

}

What value can a developer expect when referencing o.js.secondCity?
A. Undefined

B. " new york \\

C.  New York \'

D. An error

Correct Answer: B
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